ERRKRDHES

ERT—IN—2IBISH—F

20235688H (A) 4EIAH4H

K-> B3m

‘ [Xf&] 2

‘[%Elﬁﬁa‘i] - | & 14000 FHE

[AE%] 17%&:2,100,000 § ~ 2375:840,000 @  37&:525,000 9  435:315,000 @ . 53&:210,000 M

ABICDOVTIIHTEEERRDDDZE,

B®RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= REEZ :26. -1- . - $FAREZ (KH)
1 3| FSUEVRIZ S 5 £ER 1(2_6)4 1-1-1 | 37.0 2 (4_626) N
R:RSVEYR B:RFFFRT YA TFAUKES
=S ~ 6 | REEF— 1:26.4 5-4-5 |36.7 | — 1 528 | BREEIEIE (KH)
21111 |2vy>adr 56.0 1) *) | AEF
RiFVTARNXN B:TUENLAH FvIEAVRT7—L
3 b Y 6 | EWEER 1:26.8 2-2-2 |37.3| - 5 487 | RHTEE (I\HE)
3|55 | ARFILT 7L 5.0 @ va) | (@ Hmoms
R:AVI/RSA4Y B:F7VRD—-F /]
o= BEREA 3 -7~ - EFE (1))
4 6| ZIWITUS 6 ESS% 1.(227).2 6-7-6 | 37.2 6 (5;123) mﬁ%x
RIIART—=IYF— B:ZRSA b =1 -]
== 84 | HE} 1:27.4 3-4-3  |37.7] - 4 | 516 |ETEE (W)
5/8/8|LATS 56. ) -6) EIJEEE.
RIN=YITS4 B:aAV5AYJ [=lEe]
5 7Sy — s 5 | H#IR 1:27.4 4-3-4 |37.7| - 3 499 | TREEAE (KH)
618l9|319T5vAH 56.0 F9%) (5 | EEEZ
Ry d—F)UIYI F:AXO0—-T—=2R SPRBUS
S 4% 6 | EFEE 1:28.0 8-9-8 |37.4| - 7 a4 | TREAE (KH)
712|7| MNI—/ %530 ® Ga) | ) J7-2REYaY
R:TFAIWNIPFH— BRARIZANUY FHI7—L
N BAIRIE : -6~ - BRA—R (KH)
sl 4| BT /U330~ B4R 1'(218)'2 TeT | B2 ? f; ob)I|=#5
R:O—IRAIUXA B:HT/AFRT BRI
= = — . BIHE® 128. -8~ . - HEE (W)
9 2 F4—SAL =T 4 4 56.0I_ 1(72?:)2 9-8-9 37.6 8 (4+521) %EEH«’&‘Z
RIN—EYIv— B:YvAFLANX TREFHUS
@ 1—F—&BIENL
13—7F—
23—7*+— |3,5,8,9,1,6,4,7,2
BEIESSES 3,5,9,(1,8),4,6,2,7
43—F— 3,5,8,9,1,6,4,7,2
[ BN
B 3 230 AR 1-3 1209 AN 1-3 1304 3EE 1-3-5 540/
BB 3 110M9 3-5 340 =} 3-1 370 3EE FH=5 1,780
1 1004 1-5 390M 5 = 1-3 160M4
5 170/ BB 3-1 350/

CHESRL TN




